
CEV51−7N

CEV53−1A

wavelength λ /nm contrast C=9:1

Rs(λ) = log[Rr(λ)] = log[R(λ)/0,18] reflection (log)
Ostwald colour: red R, λ1=570 , λ2=700 , λd=595
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CEV53−2A

wavelength λ /nm contrast C=9:1

Rs(λ) = log[Rr(λ)] = log[R(λ)/0,18] reflection (log)
Ostwald colour: yellow Y, λ1=495 , λ2=700 , λd=570
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CEV53−3A

wavelength λ /nm contrast C=9:1

Rs(λ) = log[Rr(λ)] = log[R(λ)/0,18] reflection (log)
Ostwald colour: green G, λ1=470 , λ2=570 , λd=520
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CEV53−4A

wavelength λ /nm contrast C=9:1

Rs(λ) = log[Rr(λ)] = log[R(λ)/0,18] reflection (log)
Ostwald colour: cyan C, λ1=400 , λ2=570 , λd=495
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CEV53−5A

wavelength λ /nm contrast C=9:1

Rs(λ) = log[Rr(λ)] = log[R(λ)/0,18] reflection (log)
Ostwald colour: blue B, λ1=400 , λ2=495 , λd=470

78,4

49,4

29,4

0,477

0,000

−0,477

Rsw

Rsz

Rsn

Rs(λ)   triangle lightness T*

400 500 600 700
−0,8

−0,4

  0,0

  0,4

  0,8

λ2=
495 

CEV53−6A

wavelength λ /nm contrast C=9:1

Rs(λ) = log[Rr(λ)] = log[R(λ)/0,18] reflection (log)
Ostwald colour: magenta M, λ1=570 , λ2=470 , λd=520c
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CEV53−7A

wavelength λ /nm contrast C=9:1

Rs(λ) = log[Rr(λ)] = log[R(λ)/0,18] reflection (log)
optimal colour: white W, λ1=400 , λ2=700 , λd=−
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standard reflection
0,060<=R(λ)<=0,540
log[relative reflection]
Rs(λ)=log[R(λ)/0,18]


